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when one element attached with other element by chemical process is known

a) valency b) bond c) molecule d) H-bond
which factor is responsible for the formation of ionic bond?

a) lonization energy b) Electron affinity

c) Both aand b d)None of the above

The force of attraction exerted on bonding sharing electron by atom?
a) electron negativity b) ionic energy

c) bond d) electron affinity

which bond formation take place in p-chloro phenol?

a) H-bond b) IntramolecularH-bond
¢)Intermolecular H-bond d)None of the above

what is the physical state of mercury Hg and galliumGa?

a) solid b) liquid

c) gas d) none of the above

In following metal which metal gives FCC arrangement?

a) gold b) iron

c)tungsten d) none of the above

In the following example which one is a ionic solid?

a) P4 b )er c) Na d) NacCl



8)

9)

10)

11)

12)

13)

14)

15)

what is the melting point of molecule which are attached by a metallic bond?

a) high b) low c) soft d) hard
+

CH,COOC,H,, + HZO(D%) CH,COOH) + cveveerrreeererene.
Q)

A)CH,COOH B) C,H.OH C) CH,CH, D) C,H,
Which compound gives Complite lonization is water & act as a strong electrolyte ?
A) HCI B) CH,COOH C) NH,OH D) CH;NH,
CH,COOH is which type of electrolyte ?

A) Strong B) Weak C) Slightly strong D) None of above
What is the pH of acidic solution ?

A) 7 B)pH < 7 C)pH >7 D) 8

with rising in the temperature which type of effect is seen on lonization ?
A) Increases B) Decreases

C) Some time Increases D) Some time decreasis

What is the pH of Neutral solution ?

A) 7 B)7above 7 C) below D)6to7

When the dilution of an lonic solution is take place. So which type of effect is seen

on to the Degrees of lonization ?

16)

17)

18)

19)

20)

A) Increases B) Deceases C) No Effect D) None above
Calculate the pH of water having concentration 10"mole/lit. at 25°C

A) +7 B) +8 C) +6 D) +5

Which Instrument is not useful for measuring of pH ?

A) pH meter B) pH paper

C) Universal Indicator method D) Whatmann Filter Paper

What is the another name of Universal indicator method ?

A) colorometry method B) pH Detecting method

C)molecular method D) aarhemius

Which factor is Responsible for the atmospheric corrosion ?

A) Smoke B) Moisture C) Acid D) None of above

Which Scientist gives the Principle of Electro chemical Corrosion ?



A) Dr. ulic evans  B) Gandhiji C) Arhenius D) Autbau
21)  Which type of corrosion is take place in pure mital than In-pure metal ?

A) Increases B) Decreases C) No corrosion D) None of above
22) In the metal instrument. Why we reduces the shape like L.T. & U. in Metal

instrument ?

A) Corrosion Increases B) Corosion Decreases

C) 1 & 2 both D) None of above
23) Ca(Hco3)2#£§m> ......................... + H,0 + CO,

A) HCO, B) CaCO, C) CaHO, D) Ca203
24) What is the name of EDTA ?

A) Ethelene Di-amine tetra Acetate B) Ethylene di-amine acid

C) Ethelene Di-tri acetic acid D) None of above

25)  Which indicator is Used in EDTA method ?

A) E.B.T. B) E.C.T. C) E.AAT. D) E.F.T
26) In the following example which one is the herd water.

A) Suline or Sea water B) River water

C) Rain water D) Lake water

27) What is the chemical name of Zeolite ?

A) Sodium silicate B) Sodium Aluminium Aurtho silicate

C) Silica gel-G D) Aluminium gel
28)  Which factor is not affected in the chlorination process ?

A) Temperature B)Concentration C) Moisture D) pH
29) In the following method which Process is not gives the hardness of water.

A) Degree-Clerk B) PPm C) French degree D) C? degree
30) What is the concentration of lime in port land cement ?

A) 60-65% B) 10-20% C) 50-52% D) 15-25%
31) Which sign is used for Tri calcium silicate ?

A) C,;S B) C,S C)Csi D)
C,Si



32)

33)

34)

35)

36)

37)

38)

39)

40)

41)

42)

43)

44)

45)

46)

What is the counteraction of sulpher in mixture of Cement ?

A)1to2 % B)2to3 % C)3to4 % D)4to5 %
Which bond is seen in Non drying oils ?

A) Single B) Double C) Triple D) Tetra

In the following Insulating material which one is natural insulating material.

A) Asbestos B) Foam glass C) Glass wood D) Thermocol

In the following Insulating material which one is Artificial Insulating material ?
A) Aero gel B) Glass Wool C) Powder of wood D) Grass

What is the monomer of polyethylene ?

A) Ethylene B)Polythene C) Acethine D) Ithon
Polyester is a which type of polymer ?

A) Linear B) Branched C) Cross Linked D) None of above
Bakelite & Melamine is which type of polymer ?

A) Linear B)Branched C) Polymer D) Cross Linked
How many atom is used in the formation of tetramer.

A) One B) Three C) Five D) Four

In the following which plastic is Natural polymer ?

A) Amber B) Bakelite C) melamine D) Polythene
Which type of monomer is used for the formation of orlon ruber ?

A) Vinyl floride B) Vinyl cyanide C) Vinyl bromide D) Vinyl chloride
Which bond is responsible for the formation of NaCl ?

A) lonic bond B) Covalent bond

C) Co-ordinate covalent bond D) A & B both

Which type of arrangement is seen in the molecule of Al ?

A) FCC B) BCC C) HCP D) BBC

What is the strengthens of Vanderwalls bond.

A) 1-10 K.ca/mole B) 2-8 K.ca/mole C) 3-9 K.ca/mole D) 5-10 K.ca/mole
In the following which molecule gives the HCP type arrangement.

A) Cadmeum B) Iron C) Copper D) Gold

Which color glass is formed with the combination of Nickel oxide + soda glass.



A) Red B) Green C) Blue D) pink
47) When cement is stored for a long time which type of change take place in it's
strength ?

A) Decreases B) Increases C) Constant D) None of above
48) On dilution of solution what is effect of no ions cation & anions.

A) increase B) increase & decrease

C) Decrease D) None of these
49) Which type of Process is take place in bond formation ?

A) Thermal conductor B) Endothermic C) Exothermic D)B&C
(50) Which Is the another name of Pyrex glass ?

A) Borosilicate B)Boroplus C) Borocyl D) None of above
51)  Which Product is form when Magnecite decompose.

A) Zincoxide B) Megnesia C) Calcium D) A & B both
52) In the following thing which Protection to the wood from fungi ?

A)Putty B) Paint C) Iron D) Plastic
53) Linseed oil is a which type of oil ?

A) Drying oil B) Sweet oil C) Simple oil D) Green oil
54)  Which colar is Responsible for the Protection from the sun light.

A) White B) Yellow C) Green D) red
55) How many hours consumes for the drying of oil Varnish ?

A) 20 to 24 B) 10 to 15 C) 5to 10 D) 10 to 20
56) What is the Use of Alumminium foil ?

A) House Storage B) Railway Coach C) Cloths D) Vessel
57) Why TiO, is used for the Prevention of color become black.

A) Not boiling B) light reflection

C) Higher refrective index D) Lower refrective index
58) What is the use of Thermocol ?

A) Gas Bottle B) Cold Storage Room

C) A & B both D) None

59) In the following molecules which molecule give the covalent bond.



A) P, B) NaCl C) Na D) Diamond
60) What is the nature of ionic Compound.

A) Semi conductor B) conductor C) Insulator D) None
61) In the chemical Process the Reactant & catalyst both are in the same stand so this
Process is known as ..........ccccuenne.

A) Homogeneous Catalysis B) Heterogeneous Catalysis

C) Simple Catalysis D) None
62) In Chemical Process with addition of catalyst.

A) Reaction Rate Increases B) Reaction Rate Decreases

C) No Reaction D) None
63) What is the melting point of sulphur.

A) 1192 C B) 114°C C) 115°C D) 112°C
64) The articles to be electropoted in electroplating is known as.

A) Anone B) Cathode C) Plate D) None

65) MnO, catalyst is used in decomposition of KCIO,.

A) Positive B) Neutral C) Negative D) None
66) N, + 3H2#iyst> ........................

A) H,N B) 2NH, C) NH, D) None
67) What is the full form of TEL.

A) Tetra ethyl liquid B) Tetra Ethanol Lithium

C) Tetra Ethyl Lead D) Tetra Ethane lead

68) What is the Use of V,0, Catalyst ?

A) Vegetable ghee B) Diamond

C) Sulphuric Acid D) Greese
69) 201 to 250 ppm water is which type of water.

A) Soft water B) Hard water C) Acidic water D) Basic water
70) What is the full form of B.O.D.

A) Bio Oxygen Demand B) Bio Oxygen Diethyl

C) Bio Chemical Oxygen Demand D) None
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